FORD

OEM Info
1545457 . .
withaccessories
Thread Measurement 1: M14x1,5
Thread Size 2: M14X1,5
Length: 280 mm
1545 339 Inner Thread: M14x1,5 mm
Outer Thread: M12x1,75mm
Length: 94 mm
= el -
6084
CE®)
. 4
3144

CAPRI (EJ,
OEM

Info

12.1968 - 02.1974

-12,2015
Info OEM
. . 1545457
withaccessories
Thread Measurement 1: M14x1,5
Thread Size 2:M14X1,5
Length: 280 mm
Inner Thread: M14x1,5 mm 1545338
Outer Thread: M12x1,75mm
Length: 94 mm
6084
3145

OEM

with right-handthread

1447221

L 3016
©

1447221 with right-handthread
agE
3016
OEM Info
1251937 Thread Measurement 1: M14x1,5
Thread Size 2: M16x1,5
Length: 275 mm
1223792 SuspensionRod
Inner Length: 298,1mm
1315083 Thread Size: M10x1,5
Thread Size 2: M 16x1,5
for vehicles with power steering
Hydraulic
1470387
1061670 |Trailing Arm
1234275 Control Arm
Mounting Type: Rubber Bearing
1234275 Control Arm
Mounting Type: Hydro Bearing
1310333
1061668
1061662
1061668
1061659
= < —— ————
6085 F?

Info OEM
Thread Measurement 1: M14x1,5 1251937
Thread Size 2: M16x1,5
Length: 275 mm
SuspensionRod 1223792
Inner Length: 298,1mm
Thread Size: M10x1,5 1315074
Thread Size 2: M 16x1,5
for vehicles with power steering
Hydraulic
1470387
Trailing Arm 1061670
Control Arm 1234275
Mounting Type: Rubber Bearing
Control Arm 1234275
Mounting Type: Hydro Bearing
1310333
1061668
1061662
1061668
1061659

6085



3146

4068

2151

2154

2155

3519

4068

2151

2154

2155

iﬁ.@
5142 5142
1278 1278
1279 1279
2152 2152
2153 2153



FORD

COUGAR (EC_)

08.1998 - 01.2015

OEM Info Info OEM
1106 269 Suspension Rod Suspension Rod 1106 269
Aluminium Aluminium
withaccessories withaccessories
1035691 with left-handthread with right-handthread 1035690
1023026 1023026
1039511 Suspension Rod Suspension Rod 1039511
6 829 045 Control Arm Control Arm 6 829 045
6 829 046 Semi-trailing Arm Semi-trailing Arm 6 829 046
= ZoW
5144 5144
3520
4069
5143
2156
2157

(KAA, KBA,KCA)

03.1986 - 03.1992

OEM Info
3250825 with right-hand thread
Thread Size: M14x1,5
3251449 with right-handthread
Thread Size: M14x1,5
3252249 Cone Size: 17,8 mm
3252250
=
6086

3150

Info OEM
with right-hand thread 3250825
Thread Size: M14x1,5
with right-handthread 3251449
Thread Size: M14x1,5
Cone Size: 17,8 mm 3252249
3252250
6086
3150



FORD

| ECONOVAN (KAA, KBA,KCA) 03.1986 - 03.1992
4070 4070
2 e
4071 4071

ECOSPORT
OEM Info
2S6C 3280 KA |Thread Size:M14x1,5
Length: 250 mm

1146 150 Suspension Rod

1202549 withaccessories

Inner Thread: M12x1,5 mm
Outer Thread: M10x1,5mm

Info OEM
Thread Size: M14x1,5 2S6C 3280 KA
Length: 250 mm
SuspensionRod 1146 150
withaccessories 1202548
Inner Thread: M12x1,5 mm
Outer Thread: M10x1,5mm

2o

6087

o 6087

ok FE— 4 =4 ..

3151 3152
e
ESCORT (AVA, AVF,AVL) 01.1981 - 02.1986
OEM Info Info OEM
1004018 Suspension Rod Suspension Rod 1004018
withaccessories withaccessories
1015 547 with right-handthread with right-handthread 1015 546
1447221 with right-handthread with right-handthread 1447221
1058 280 Control Arm Control Arm 1058279
with ball joint, withrubber with ball joint, withrubber
mounting mounting
Sheet Steel Sheet Steel
1000 445 Mounting Type:Rubber-metal Mounting Type:Rubber-metal 1000 445
Bearing Bearing
Control Arm Control Arm
1035929 Mounting Type:Rubber-metal Mounting Type:Rubber-metal 1035929
Bearing Bearing
agEls
5146 é— * 5146
3153 3522




FORD

| ESCORT (AVA, AVF,AVL) 01.1981 - 02.1986
3016 L L 3016
© ©
1281 \ ’ 1280
2158 O G 2158
2159 i % 2159

ESCORT CLASSIC (AAL, ABL,ANL) 10.1998 - 07.2000
OEM Info F/R Type Type F/R Info OEM
6197238 |Manufacturer Restriction: TRW @@= |5~ | 6088 6088 |~ |@@e=’.|Manufacturer Restriction: TRW 6197 238
1024130 Manufacturer Restriction: w5 6089 6089 & |@@E .| Manufacturer Restriction: 1024130

WUELFRATH WUELFRATH
1015547  |with right-handthread EC L=y 3153 3522 =<4 |@@="0 | with right-handthread 1015 546
1058280 |Control Arm [ p— e @@z Control Arm 1058279
with ba‘!IIJomt, withrubber /‘:l” 1281 1280 (‘:\” with ba.!lljomt, withrubber
mounting @ @ mounting
Sheet Steel Sheet Stee
1000445 |Mounting Type:Rubber-metal e V)| @ @ @@L .| Mounting Type:Rubber-metal 1000 445
Bearing 2158 2158 Bearing
Control Arm Control Arm
1035929 |Mounting Type:Rubber-metal Lo @ 2159 I @ @@= Mounting Type: Rubber-metal 1035929
Bearing Bearing
el —“OE ——Ow
6088 o o 6088
6089 o o 6089
3153 k 3522
L .3
1281 \ ’ 1280

2159 2159




FORD

ESCORT | (ADH, AFH, ATH)

01.1968 - 02.1976

OEM Info F/R Type Type F/R Info OEM
1447221 |with right-handthread izl o) 3016 3016 | @@= | with right-handthread 1447221
‘l@;
3016 3016

03.1973 - 07.1981

ESCORT Il ESCORT Estate (ATH)

OEM

Info

F/R

Type

F/R

Info

OEM

1447221

with right-handthread

ESCORT Il (ALD, AWA, GAA)

| o=

Type
=z

with right-handthread

1447221

09.1980 - 07.1986

©

09.1980 - 07.1986

OEM Info F/R Type Type F/R Info OEM
1447221 |with right-handthread oo RN 3016 3016 [“<%  |@@i=" | with right-handthread 1447221
“ 3016
ESCORT IV (ABFT, ALF, AWF, AVF, GAF) 10.1985 - 10.1990
OEM Info F/R Type Type F/R Info OEM
1447221 |with right-handthread o ey 3016 3016 |~<& |@@=="..|with right-handthread 1447 221
ﬂ@;

3016 3016
ESCORT V (ALL, AVL, GAL) 07.1990 - 12.1992
OEM Info F/R Type Type F/R Info OEM
6197 238 Manufacturer Restriction: TRW @@im |5 | 6088 6088 |©~ |@@a='..|Manufacturer Restriction: TRW 6197 238
1024130 Manufacturer Restriction: i 6089 6089 &= B Manfacturer Restrition: 1024130

WUELFRATH WUELFRATH
- =T /¢N | aetimilien i
1004018 Sl{spensmn R?d %@(/ 5146 5146 wg’/ Su‘spensmn Rf)d 1004018
withaccessories withaccessories
1015547 with right-handthread m{% 3153 3522 L{Q @@in | with right-handthread 1015 546
1058280 |Control Arm B — ‘|Control Arm 1058279
with bz?lll joint, withrubber 1281 1280 /(_\:/ with béll joint, withrubber
mounting & mounting
Sheet Steel Sheet Steel
1000 445 Mounting Type:Rubber-metal @ et Vo Mounting Type:Rubber-metal 1000 445
Bearing 2158 2158 Bearing
Control Arm Control Arm
s et = e =
6088 Lo o 6088
6089 o o 6089
5146 é é

b 4

* 5146




FORD

ESCORT V (ALL, AVL,GAL) 07.1990 - 12,1992

3153 3522
1281 1280
2158 2158
ESCORT VI (ALL, GAL) 09.1992 - 01.1995
OEM Info F/R Type Type F/R Info OEM
6197238 |Manufacturer Restriction: TRW @@= |5 | 6088 6088 |~ |@@e=’.|Manufacturer Restriction: TRW 6197 238
1024130 Manufacturer Restriction: i) 6089 6089 &= | el Manufacturer Restriction: 1024130
WUELFRATH WUELFRATH
1004018 Suspension Rod aim o)) EeN NP Suspension Rod 1004018
) ) &~ 5146 5146 ) )
withaccessories withaccessories
5021414 |with right-handthread aim ¥ @ﬁ% 2523 2155 @@= | with right-hand thread 5021413
Thread Size: M14x2 Thread Size: M14x2
1015547 |with right-handthread P =i 3153 3522 @@Lz .| with right-handthread 1015 546
1058280 |Control Arm e > +&[e@m= 50 Control Arm 1058 279
with be‘\IIjoint, withrubber . /\;l” 1281 1280 with be.xlljoint, withrubber
mounting @ mounting
Sheet Steel Sheet Steel
1000445 |Mounting Type:Rubber-metal e o) @ @@L .| Mounting Type:Rubber-metal 1000 445
Bearing 2158 2158 Bearing
Control Arm Control Arm
sl —aw _'@
6088 o o 6088
6089 o 6089
5146 é 5146
3523 3155
3153 3522
1281 1280




ESCORT VII (AAL, ABL, AFL, ALL,ANL, GAL)

ESCORT VII (AAL, ABL, AFL, ALL,ANL, GAL)

01.1995 - 02.2015

OEM Info
6197 238 Manufacturer Restriction: TRW
1024130 Manufacturer Restriction:
WUELFRATH
1004018 Suspension Rod
withaccessories
5021414  |with right-handthread
Thread Size: M14x2
1015547 with right-handthread
1058 280 Control Arm
with ball joint, withrubber
mounting
Sheet Steel
1000 445 Mounting Type:Rubber-metal
Bearing
Control Arm
1035929 Mounting Type:Rubber-metal
Bearing
6088
6089
5146
3523
3153
1281
2158

2159

Info OEM
‘| Manufacturer Restriction: TRW 6 197 238
&% Manufacturer Restriction: 1024130
WUELFRATH
Suspension Rod 1004018
withaccessories
2| with right-handthread 5021413
Thread Size: M14x2
with right-handthread 1015546
Control Arm 1058279
with ball joint, withrubber
mounting
Sheet Steel
“©|Mounting Type:Rubber-metal 1000 445
Bearing
Control Arm
Mounting Type:Rubber-metal 1035929
Bearing
o 6088
6089
5146
3155
3522
1280
2158
2159




FORD

FIESTA Box (F3L, F5L)

07.1991 - 02.1996

OEM Info
1004018 Suspension Rod
withaccessories
1447221  |with right-handthread
1030025 withaccessories
1046 297 Control Arm
with ball joint, withrubber
mounting
Sheet Steel
1046935 Control Arm
with ball joint, withrubber
mounting
Sheet Steel
1000 445 Mounting Type:Rubber-metal
Bearing
Control Arm
1035929 Mounting Type:Rubber-metal
Bearing
5146
3016
4072
1283
1285
2158
2159

Info OEM
Suspension Rod 1004018
withaccessories
with right-handthread 1447221
withaccessories 1030025
Control Arm 1046933
with ball joint, withrubber
mounting
Sheet Steel
Control Arm 1046934
with ball joint, withrubber
mounting
Sheet Steel
Mounting Type:Rubber-metal 1000 445
Bearing
Control Arm
Mounting Type:Rubber-metal 1035929
Bearing
? 5146

1282

1284

2158

2159




FORD

03.1983 -12.1995

FIESTA Box (FVD)

OEM Info
1447221 with right-handthread
1030025 withaccessories
1046935 Control Arm

with ball joint, withrubber
mounting
Sheet Steel
1000 445 Mounting Type:Rubber-metal
Bearing
Control Arm
aga o

FIESTA Box (J5_,J3_)

OEM

Info

1044014

Thread Measurement 1: M14x1,5
Thread Size 2: M14x2,0
Length: 290 mm

1004018

Suspension Rod
withaccessories

1011858

with right-hand thread
Thread Size: M10x1,5

1030025

withaccessories

1063 255

Control Arm

with ball joint, withrubber
mounting

Sheet Steel

1004011

Mounting Type:Rubber-metal
Bearing
Control Arm

1010037

Length: 62 mm
Inner Diameter: 12,0 mm
Outer Diameter: 37,0 mm
Steel Elastomer

6090

5146

A

Info OEM
with right-handthread 1447221
withaccessories 1030025
Control Arm 1046934
with ball joint, withrubber
mounting
Sheet Steel
Mounting Type:Rubber-metal 1000 445
Bearing
Control Arm
3016
4072
1284
2158
Info OEM
Thread Measurement 1: M14x1,5 1044014
Thread Size 2:M14x2,0
Length: 290 mm
Suspension Rod 1004018
withaccessories
with right-hand thread 1011857
Thread Size: M10x1,5
withaccessories 1030025
Control Arm 1063236
with ball joint, withrubber
mounting
Sheet Steel
Mounting Type:Rubber-metal 1004011
Bearing
Control Arm
Length: 62 mm 1010037
Inner Diameter: 12,0 mm
Outer Diameter: 37,0 mm
Steel Elastomer
L =2 6090
F 5146




FORD

| FIESTA Box (J5_,J3_)

3157

4072

1287

2160

2161

FIESTA Box (JV_)

OEM

Info

1004018

Suspension Rod
withaccessories

1011858

with right-hand thread
Thread Size: M10x1,5

1046 297

Control Arm

with ball joint, withrubber
mounting

Sheet Steel

1063 255

Control Arm

with ball joint, withrubber
mounting

Sheet Steel

1004011

Mounting Type:Rubber-metal
Bearing
Control Arm

1010037

Length: 62 mm
Inner Diameter: 12,0 mm
Quter Diameter: 37,0 mm
Steel Elastomer

ag=
5146

3157

A

-2,1996

3158

4072

1286

2160

2161

Info OEM

Suspension Rod 1004018
withaccessories
with right-hand thread 1011857
Thread Size: M10x1,5
Control Arm 1046933
with ball joint, withrubber
mounting
Sheet Steel
Control Arm 1063236
with ball joint, withrubber
mounting
Sheet Steel
Mounting Type:Rubber-metal 1004011
Bearing
Control Arm
Length: 62 mm 1010037
Inner Diameter: 12,0 mm
QOuter Diameter: 37,0 mm
Steel Elastomer

5146

S §

3158




FORD

| FIESTA Box (JV_) -5,1998
1283 1282
1287 1286

2160 2160

2161 2161

FIESTA Box (WFVT) 05.1976 - 11.1986

OEM Info Info OEM
1447221 with right-handthread 3016 3016 @Ejfz\b with right-handthread 1447221
=i
3016 3016

FIESTA | (GFBT) 05.1976 - 08.1983

OEM Info F/R Type Type F/R Info OEM
1447221 |with right-handthread T ey 3016 3016 |7<& |@@=="0)|with right-handthread 1447221
ﬁ!@;
3016 3016
©
FIESTA Il (FBD) 09.1983 - 11.1989
OEM Info F/R Type Type F/R Info OEM
1447221 |with right-handthread =N 3016 3016 [~<%  |@@i=’.|with right-handthread 1447221
ad=r
3016 3016




01.1989 - 01.1997

Info
1659374 Length: 281 mm
1004018 Suspension Rod
withaccessories
1447221 with right-handthread
1023567 with right-hand thread
Thread Size: M10
1030025 withaccessories
1046 297 Control Arm
with ball joint, withrubber
mounting
Sheet Steel
1046935 Control Arm
with ball joint, withrubber
mounting
Sheet Steel
1000 445 Mounting Type:Rubber-metal
Bearing
Control Arm
1035929 Mounting Type:Rubber-metal
Bearing
6091
5146
3016
3159
4072
1283
1285
2158

2159

Info OEM

Length: 281 mm 1659374
Suspension Rod 1004018
withaccessories
with right-handthread 1447221
with right-hand thread 1023567
Thread Size: M10
withaccessories 1030025
Control Arm 1046933
with ball joint, withrubber
mounting
Sheet Steel
Control Arm 1046934
with ball joint, withrubber
mounting
Sheet Steel
Mounting Type:Rubber-metal 1000 445
Bearing
Control Arm
Mounting Type:Rubber-metal 1035929
Bearing

6091

5146

3016

3159

4072

1282

1284

2158

2159




FORD

FIESTA IV (JA_,JB_) 08.1995 - 02.2015

OEM Info F/R F/R Info OEM

1044014 Thread Measurement 1: M14x1,5 & & Thread Measurement 1: M14x1,5 1044014
Thread Size 2: M14x2,0 Thread Size 2:M14x2,0
Length: 290 mm Length: 290 mm

1004018 |Suspension Rod )| @@ | Ssuspension Rod 1004 018
withaccessories withaccessories

1011858 |with right-handthread o) @@= )| with right-hand thread 1011857
Thread Size: M10x1,5 Thread Size: M10x1,5

1063255 |Control Arm mls) *| @B 55| Control Arm 1063 236
with ball joint, withrubber with ball joint, withrubber
mounting mounting
Sheet Steel Sheet Steel

1020220 |Control e ) @@ia "o Control 1020214
Arm A- Arm A-

1004011 Mounting Type:Rubber-metal mls) P = e Mounting Type:Rubber-metal 1004011
Bearing Bearing
Control Arm Control Arm

1010037 |Length: 62mm =l o) @@= | Length: 62 mm 1010037
Inner Diameter: 12,0 mm Inner Diameter: 12,0 mm
Quter Diameter: 37,0 mm Outer Diameter: 37,0 mm
Steel Elastomer Steel Elastomer

|

6090 6090
5146 é 1 5146
3157 i 3158
1287 i 1286
1288 5 1289
2160 Q 2160
2161 2161




FO

RD

FIESTA V (JH_,JD_)

OEM

Info

256C 3280 KA

Thread Size: M14x1,5
Length: 250 mm

1146150

Suspension Rod

1202549

withaccessories
Inner Thread: M12x1,5 mm
Quter Thread: M10x1,5mm

1207 448

withoutaccessories
Control Arm

1212807

=

6087

5145

3151

1290

2162

2163

FIESTA VI

Info OEM

Thread Size: M14x1,5 2S6C 3280 KA
Length: 250 mm
Suspension Rod 1146150
withaccessories 1202548
Inner Thread: M12x1,5 mm
QOuter Thread: M10x1,5mm
without accessories 1207 447
Control Arm

1212 807

Info

6087

5145

3152

1291

2162

2163

OEM

OEM Info

1545457 . .
withaccessories
Thread Measurement 1: M14x1,5
Thread Size 2: M14X1,5
Length: 280 mm

1545 339 Inner Thread: M14x1,5 mm
Outer Thread: M12x1,75mm
Length: 94 mm

1518 904

1518 904

el
6084

withaccessories 1545457
Thread Measurement 1: M14x1,5
Thread Size 2: M14X1,5
Length: 280 mm
Inner Thread: M14x1,5 mm 1545338
Outer Thread: M12x1,75mm
Length: 94 mm
1518 904
1518 904

6084




| FIESTAVI

3144

2164

, DBW, DNW, DFW)

FORD

-8,2015

3145

2164

10.1998 - 04.2015

Info
1085520 Thread Measurement 1: M14x1,5
Thread Size 2: M14x2,0
Length: 321 mm
1107 068 Suspension Rod
Aluminium
withaccessories
1073215 Control Arm
with ball joint, withrubber
mounting
Sheet Steel
1073214 Control Arm
Mounting Type:Rubber-metal
Bearing
1061570 Control Arm
1207973 Control Arm
Mounting Type:Hydro Bearing
alternatively:
1061670 Trailing Arm
1203093 Suspension Rod
1061668
1061662
1061668
1061659

6092

5147

1293

2166

2167

Info OEM
Thread Measurement 1: M14x1,5 1085520
Thread Size 2: M14x2,0
Length: 321 mm
Suspension Rod 1107 068
Aluminium
withaccessories
Control Arm 1073214
with ball joint, withrubber
mounting
Sheet Steel
Control Arm 1073214
Mounting Type:Rubber-metal
Bearing
Control Arm 1061570
Control Arm 1207973
Mounting Type:Hydro Bearing
alternatively:
Trailing Arm 1061670
SuspensionRod 1203093
1061668
1061662
1061668
1061659
6092
5147
1292
2166

2167




FORD

2168 2168
2151 2151
N /o))
5148 5148
1278 1278
1279 1279
2152 2152
2153 2153
FOCUS C-MAX 10.2003 - 07.2015
OEM Info Info OEM
1251937 Thread Measurement 1: M14x1,5 Thread Measurement 1: M14x1,5 1251937
Thread Size 2: M16x1,5 Thread Size 2: M16x1,5
Length: 275 mm Length: 275 mm
1223792 Suspension Rod SuspensionRod 1223792
Inner Length: 298,1mm Inner Length: 298,1mm
1315083 Thread Size: M10x1,5 Thread Size: M10x1,5 1315074
Thread Size 2: M 16x1,5 Thread Size 2: M 16x1,5
for vehicles with power steering for vehicles with power steering
Hydraulic Hydraulic
1234382 Cone Size: 18 mm Cone Size: 18 mm 1234382
Thread Size: M14x1,5 Thread Size: M14x1,5
1470387 1470387
1234375 Cone Size: 18 mm Cone Size: 18 mm 1234371
Control Arm Control Arm
1061670 Trailing Arm Trailing Arm 1061670
1234275 Control Arm Control Arm 1234275
Mounting Type: Rubber Bearing Mounting Type: Rubber Bearing
1234275 Control Arm Control Arm 1234275
Mounting Type: Hydro Bearing Mounting Type: Hydro Bearing
1310333 1310333
1061668 1061668
1061662 1061662
1061668 1061668
1061659 1061659
6085 '@ & 6085




FORD

‘ FOCUS C-MAX 10.2003 - 07.2015

5141

3146

4073

4068

1294

2151

2154

2155

5142

1278

1279

2152

2153




FORD

FOCUS Il (DA_, DAW_)

OEM Info
1317453 Thread Measurement 1: M14x1,5
Thread Size 2: M16x1,5
Length: 272 mm
1223792 SuspensionRod
Inner Length: 298,1mm
1315083 Thread Size: M10x1,5
Thread Size 2: M16x1,5
for vehicles with power steering
Hydraulic
1234382 Cone Size: 18 mm
Thread Size: M14x1,5
1470387
1234375 Cone Size: 18 mm
Control Arm
1061670 Trailing Arm
1234275 Control Arm
Mounting Type: Rubber Bearing
1234275 Control Arm
Mounting Type: Hydro Bearing
1310333
1061668
1061662
1061668
1061659
=
6093 L‘;
5141
3146
4073
4068
1294
2151
2154

F/R Info OEM
Thread Measurement 1: M14x1,5 1317453
Thread Size 2: M16x1,5
Length: 272 mm
@@l | suspension Rod 1223792
Inner Length: 298,1mm
@@= | Thread Size: M10x1,5 1315074
Thread Size 2: M 16x1,5
for vehicles with power steering
Hydraulic
@@ 5| Cone Size: 18 mm 1234382
Thread Size: M14x1,5
aEmle) 1470387
@@Ll | Cone Size: 18 mm 1234371
Control Arm
@@ | Trailing Arm 1061670
|@@=="5 Control Arm 1234275
Mounting Type: Rubber Bearing
@@E2P | Control Arm 1234275
Mounting Type: Hydro Bearing
o 1310333
o 1061 668
B 1061 662
B 1061 668
B 1061 659
(‘) 6093
? QQ 4& 5141
3519
’ 4073
’& h
<
? 1295
' 2151
‘ 2154




FORD

2155 2155
e

5142 5142

1278 1278

1279 1279

2152 2152

2153 2153

FOCUS Il

-11,2015

OEM Info
1315083 Thread Size: M10x1,5
Thread Size 2: M 16x1,5
for vehicles with power steering
Hydraulic
3146

OEM

FREESTAR [USA] Mini CargoVan

Info

Info

09.2005 - 06.2015

Info OEM
2| Thread Size: M10x1,5 1315074
Thread Size 2: M 16x1,5
for vehicles with power steering
Hydraulic
3519

OEM

4724289

4724289

5149

OEM

-y

FREESTAR [USA] Mini Passenger Van

Info

Info

‘T 5149

09.2003 - 07.2015

OEM

4724 289

4724289

p

5149

4

4

T

"T 5149



FORD

FUSION (JU_)
OEM Info Info OEM
256C 3280 KA |Thread Size: M14x1,5 Thread Size: M14x1,5 256C 3280 KA
Length: 250 mm Length: 250 mm
1146 150 Suspension Rod Suspension Rod 1146150
1202549 withaccessories withaccessories 1202548

Inner Thread: M12x1,5 mm
Quter Thread: M10x1,5mm

Inner Thread: M12x1,5 mm
QOuter Thread: M10x1,5mm

1207 448 withoutaccessories without accessories 1207 447
Control Arm Control Arm
1212 807 1212 807
= ———— -,
6087 /~ 6087
° &
5145 r 5145
o
3151 3152
1290 1291
2162 2162
2163 2163




GALAXY / GALAXY (WGR)

OEM

Info

1433271

Thread Measurement 1: M16x1,5
Thread Size 2: M18x1,5
Length: 297 mm

FORD

1121508
1001398
1377 849 Length: 299 mm
Suspension Rod
1009591 Suspension Rod
withaccessories
1433274 |with right-hand thread
Inner Thread: M18x1,5 mm
Outer Thread: M14x2,0mm
Cone Size: 20 mm
Length: 11,5mm
1001 398 with right-handthread
1377 846 Cone Size: 22 mm
for controlarm
Outer Thread 1: M14x1,5mm
withaccessories
1111156
1377848
1007 602 Control Arm
Cast Steel
with rubber mounting
only with: 16610
Orderseparately:
1566 838
1426770
1044571 for controlarm
7201717
1377 416 SuspensionRod
Thread Size: M8x1,25,M10x1,5
Length: 179 mm
Steel
1377449
1387629
1469125
1469125
agEm s
6094
6095
11076
5150
5460

3160

Info OEM
Thread Measurement 1: M16x1,5 1433271
Thread Size 2: M18x1,5
Length: 297 mm
1121508
1001 396
Length: 299 mm 1377849
SuspensionRod
Suspension Rod 1009 591
withaccessories
with right-hand thread 1433273
Inner Thread: M18x1,5 mm
Outer Thread: M14x2,0mm
Cone Size: 20mm
Length: 11,5mm
with right-handthread 1001 396
Cone Size: 22 mm 1377 846
for controlarm
Outer Thread 1: M14x1,5mm
withaccessories
1111156
1377 846
Control Arm 1012632
Cast Steel
with rubber mounting
only with: 16610
Orderseparately:
1533836
1426770
for controlarm 1044571
7201717
SuspensionRod 1377 416
Thread Size: M8x1,25,M10x1,5
Length: 179 mm
Steel
1377449
= 1387629
= 1469 125
BEE S 1469 125
6094
6095
11077
5150
5460
3161




FORD

| GALAXY / GALAXY (WGR) -6,2015
3162 3163
=] =]
4074 4074

4075 4075
1296 1297
1299 1300
2174 2173
2170 2170
2175 2175
2176 2176
5459 5459
1298 1298
2169 2169




FORD

GALAXY / GALAXY (WGR) -6,2015
2171 2171
2172 2172

OEM

Info

1541354

Thread Measurement 1: M14x1,5
Thread Size 2: M12x1,5
Length: 240 mm

1540281

Suspension Rod

1546 259

Thread Size:M12x1,5
Outer Thread: M10x1,25mm

1540244

Control Arm

1540244

1540244

6070

5133

3134

1301

2421

2177

Info OEM
Thread Measurement 1: M14x1,5 1541354
Thread Size 2: M12x1,5
Length: 240 mm
SuspensionRod 1540281
Thread Size:M12x1,5 1546 260
Outer Thread: M10x1,25mm
Control Arm 1540246
1540 244
1540 244
nﬂ 6070
— 5133
(o7}
6 3135
=)
? 1302
g 2421

2177



FORD

09.1996 - 08.2015

OEM Info
1659374 Length: 281 mm
1004018 Suspension Rod
withaccessories
1107 068 Suspension Rod
Aluminium
withaccessories
1023567 with right-hand thread
Thread Size: M10
1030025 withaccessories
1032102 Control Arm
with ball joint, withrubber
mounting
Sheet Steel
1032101 Control Arm
with ball joint, withrubber
mounting
Sheet Steel
1000 445 Mounting Type:Rubber-metal
Bearing
Control Arm
1035929 Mounting Type:Rubber-metal
Bearing
=
6091
5146
5147
3159
4072
1304
1305
2158

Info OEM

Length: 281 mm 1659374
Suspension Rod 1004 018
withaccessories
Suspension Rod 1107 068
Aluminium
withaccessories
with right-hand thread 1023567
Thread Size: M10
withaccessories 1030025
Control Arm 1032100
with ball joint, withrubber
mounting
Sheet Steel
Control Arm 1032099
with ball joint, withrubber
mounting
Sheet Steel
Mounting Type:Rubber-metal 1000 445
Bearing
Control Arm
Mounting Type:Rubber-metal 1035929
Bearing

6091

5146

5147

3159

4072

1303

1306

2158




2159

OEM Info
1251937 Thread Measurement 1: M14x1,5
Thread Size 2: M16x1,5
Length: 275 mm
1223792 SuspensionRod
Inner Length: 298,1mm
1501 855 Cone Size: 15mm
Inner Thread: M16x1,5 mm
Outer Thread: M10x1,5mm
Length: 108 mm
1061670 Trailing Arm
1234275 Control Arm
Mounting Type: Rubber Bearing
1502 084 Mounting Type: Hydro Bearing
1502 681 Suspension Rod

Steel
Length: 179 mm
Thread Size: M8x1,25,M10x1,5

T e —

Info OEM
Thread Measurement 1: M14x1,5 1251937
Thread Size 2: M16x1,5
Length: 275 mm
SuspensionRod 1223792
Inner Length: 298,1mm
Cone Size: 1I5mm 1501583
Inner Thread: M16x1,5 mm
Outer Thread: M10x1,5mm
Length: 108 mm
Trailing Arm 1061670
Control Arm 1234275
Mounting Type: Rubber Bearing
Mounting Type: Hydro Bearing 1502 084
Suspension Rod 1502 681

Steel
Length: 179 mm
Thread Size: M8x1,25,M10x1,5

6085 &

5141 f s T s J 5141
3164 3165
2151 2151
2154 2154
2178 2178

I
5461 . 5461




FORD

MAVERICK (UDS, UNS) 02.1993 - 04.1998
OEM Info F/R Type Type F/R Info OEM
1954599 @@=l C | 11078 | 11078 |7 [ |[ee=miol 1954599
1954778 Suspension Rod i o) /If& & /4& i o) Suspension Rod 1954778

withaccessories A 5154 5154 @ withaccessories
with rubbermounting with rubbermounting
1961668  |with right-hand thread SRS ) o7 ), [ with right-hand thread 1961668
Ve 3166 3166 a
Outer Thread: M16x1,5mm S S Outer Thread: M16x1,5mm
1961669  |with left-handthread i o) @ﬁ% o), [F=F 5 with left-handthread 1961669
Outer Thread: M16x1,5mm 3167 3167 S Outer Thread: M16x1,5mm
Cone Size: 15mm Cone Size: 15mm
1954 430 i o< 4076 4076 |~ =t 1954 430
1954431 i o)< 4077 4077 |~ o=l o) 1954431
without accessories agiz o) S 4078 4078 5 @@= | without accessories
without accessories B =2 /I‘k 5462 5462 |~ /4& & ®e| without accessories
Coupling Rod A4 @ Coupling Rod
o
11078
5154 5154
3166 3166
3167 3167
4076 é 4076
S—-v
4077 % 4077
J )
4078 4078
o B
5462

5462



FORD

MONDEO | (BNP,GBP)

02.1993 - 08.1996

OEM Info F/R
3903147 |Rim Size: 14Inch e o)
6832049  |Rim Size: 15Inch e )|
1106269 |Suspension Rod e )

Aluminium
withaccessories
5027451 |with right-handthread
1023026 mls)
1023028 |Control Arm =l )|
with rubber mounting, with ball
joint
Sheet Steel
6790115 |Mounting Type:Rubber-metal o)
Bearing
Outer Diameter: 48 mm
for controlarm
1102950 |Mounting Type:Rubber-metal e b )|
Bearing
Outer Diameter: 54,0mm
Control Arm
7014210 |SuspensionRod e =
1039511 [SuspensionRod o e
6 870 549 for controlarm = >
6 829 045 Control Arm
6 829 046 Semi-trailing Arm
6901534 Semi-trailing Arm
1023635 Semi-trailing Arm
ai= s,
6096
6097
5144
3169
| €
4069
- <
2179 ‘

F/R Info OEM
@@ | Rim Size: 14Inch 3903 147
@@ | Rim Size: 15 Inch 6832049
@@i2’ | Suspension Rod 1106 269

Aluminium
withaccessories
@20 | with right-handthread 5027 452
|| 1023026
| o)) Control Arm 1023026
with rubber mounting, with ball
joint
Sheet Steel
“@L2l | Mounting Type: Rubber-metal 6790115
Bearing
Outer Diameter: 48 mm
for controlarm
P = e Mounting Type:Rubber-metal 1102950
Bearing
Outer Diameter: 54,0mm
Control Arm
2 @ suspension Rod 7014210
2 ®&| suspension Rod 1039511
|for controlarm 6 870 549
[Control Arm 6 829 045
|- ®| semi-trailing Arm 6829 046
|- | semi-trailing Arm 6901534
[semi-trailing Arm 1023635
6096
6097
5144
3168
4069
dl &
‘ 2179




| MONDEO | (BNP, GBP)

FORD

1993 - 08.1996

MONDEO Il
OEM

(BAP, BFP,BNP)
Info

2182 2182
e oY
5156 5156
5143 5143
2180 2180
2156 2156
2157 2157
2181 2181
2183 2183

09.1996 - 11.2000

3903 147 Rim Size: 14Inch

1106 269 Suspension Rod
Aluminium
withaccessories

1035691 with left-handthread

1023026

1023028 Control Arm o~
with rubber mounting, with ball
joint
Sheet Steel

6790 115 Mounting Type:Rubber-metal
Bearing
Outer Diameter: 48 mm
for controlarm

1102950 Mounting Type:Rubber-metal
Bearing
Outer Diameter: 54,0mm
Control Arm

1039511 Suspension Rod

1023058 for controlarm

6 829 045 Control Arm

6 829 046 Semi-trailing Arm

6901534 Semi-trailing Arm

1023635 Semi-trailing Arm

6096

Info OEM

Rim Size: 14Inch 3903 147

Suspension Rod 1106 269

Aluminium

withaccessories

with right-handthread 1035690

1023026

Control Arm 1023026

with rubber mounting, with ball

joint

Sheet Steel
aEmre) Mounting Type:Rubber-metal 6790 115

Bearing

Outer Diameter: 48 mm

for controlarm

Mounting Type:Rubber-metal 1102950

Bearing

Outer Diameter: 54,0mm

Control Arm
ﬁSuspensionRod 1039511
27 &) for controlarm 1023058
73| Control Arm 6829 045
2 ¥ semi-trailing Arm 6 829 046
7 ®) semi-trailing Arm 6901534
[ ®S) semi-trailing Arm 1023635

6096




FORD

‘ MONDEO Il (BAP, BFP,BNP) 09.1996 - 11.2000

5144 5144
3521 3520
4069 4069
1308 1307
2179 2179
2182 2182
R /o
5143 5143
2184 2184
2156 2156
2157 2157
2181 2181
2183 2183




FORD

L 1 2

MONDEO lIll (B4Y, B5Y, BWY) 11.2000 - 07.2015
OEM Info Info OEM
157€ 328088 Thread Measurement 1: M14x1,5 Thread Measurement 1: M14x1,5 157€ 328088

Thread Size 2: M16x1,5 Thread Size 2: M16x1,5
Length: 326 mm Length: 326 mm
1117 698 Suspension Rod Suspension Rod 1117 698
Plastic Plastic
withaccessories withaccessories
1138313 1138313
1116578 1116578
1X43 3395 AB |withaccessories withaccessories 1X43 3395 AB
1116579 Control Arm Control Arm 1128483
with ball joint, withrubber with ball joint, withrubber
mounting mounting
Sheet Steel Sheet Steel
1202 267 1202 267
1117 800 Suspension Rod Suspension Rod 1117 800
1117801 Suspension Rod SuspensionRod 1117801
1214290 1214290
1202267 1202267
1220005 per axle: 8 per axle: 8 1220005
6098 o o 6098
5157 ‘—, ‘—, 5157
(-1 0
3170 3170
4079 4079
4080 4080
1310 1309
2187 2187
o
5158 g 5158




FORD

| MONDEQO Ill (B4Y, B5Y, BWY)

Info

11.2000 - 07.2015

Info

OEM

1433271 Thread Measurement 1: M16x1,5
Thread Size 2: M18x1,5
Length: 297 mm

1377849 Length: 299 mm
Suspension Rod

1433274 with right-hand thread
Inner Thread: M18x1,5 mm
Outer Thread: M14x2,0mm
Cone Size: 20 mm
Length: 11,5mm

1377 846 Cone Size: 22mm
for controlarm
Outer Thread 1: M14x1,5mm
withaccessories

1377 848

1566 838

1426770

1377 416 SuspensionRod
Thread Size: M8x1,25,M10x1,5
Length: 179 mm
Steel

1377449

1387629

1469 125

1469 125

agE i '
6094

Thread Measurement 1: M16x1,5 1433271

Thread Size 2: M18x1,5

Length: 297 mm

Length: 299 mm 1377849

SuspensionRod

with right-hand thread 1433273

Inner Thread: M18x1,5 mm

Outer Thread: M14x2,0mm

Cone Size: 20mm

Length: 11,5mm

Cone Size: 22 mm 1377 846

for controlarm

Outer Thread 1: M14x1,5mm

withaccessories
1377 846
1533836
1426770

SuspensionRod 1377416

Thread Size: M8x1,25,M10x1,5

Length: 179 mm

Steel
1377 449
1387629
1469125
1469125

6094




FORD

‘ MONDEO IV -7,2015

" o

5150 , Y %> 5150
3160 d 3161
4074 4074
444
1296 ’ ¢ 1297
2174 J 2173
2170 9 2170
5459 — ‘ == 5459
-- 00
2169 ‘ 2169
2171 o 2171
2172 @ 2172




FORD

ION I (AFD) 07.1983 - 03.1986

OEM Info Info OEM

1447221 |with right-handthread )| Q, =4 |@@im" 0| with right-handthread 1447221
ORION Il (AFF) 12.1985 - 07.1990

- T T

ORION II (AFF) 12.1985 - 07.1990
OEM Info F/R Type Type F/R Info OEM
1447221 |with right-handthread o RN 3016 3016 |2 |@@="0with right-handthread 1447221

aEr s
3016 3016
ORION Ill (GAL) 07.1990 - 10.1994
OEM Info F/R Type Type F/R Info OEM
6197 238 Manufacturer Restriction: TRW @@im |5 | 6088 6088 |© = |@@a='..|Manufacturer Restriction: TRW 6197 238
1024130 |ManufacturerRestriction: e 6089 6089 &= |@@am o Manufacturer Restriction: 1024 130
WUELFRATH WUELFRATH
1004018 Su.spen5|on R.od i % 5146 5146 wg’/ izl Su.spen5|on Rf)d 1004018
withaccessories withaccessories
1015547  |with right-handthread EC L=y 3153 3522 =<4 |@@="0 | with right-handthread 1015 546
1058280 |Control Arm e > =5 |@@E=E 5] Control Arm 1058279
. .. . RN RN . .. .
with be‘\IIJomt, withrubber {'\U 1281 1280 ‘/'\U with be.xlljomt, withrubber
mounting @ @ mounting
Sheet Steel Sheet Steel
1000445 |Mounting Type:Rubber-metal e V)| @ @ @@L .| Mounting Type:Rubber-metal 1000 445
Bearing 2158 2158 Bearing
Control Arm Control Arm
=l . e M= et A=
6088 o o 6088
6089 o o 6089
5146 é ﬂ* é *? 5146
3153 i 3522
o
2158 o 0 2158



FORD

PUMA (EC_)

03.1997 - 02.2015

P1001/1l 04.1982 - 09.1987
OEM Info F/R Type Type F/R Info OEM
5021414 |with right-handthread ) 95, |[“=EE with right-hand thread 5021413

Thread Size: M14x2 N N Thread Size: M14x2
=G,
3523 ) 3155
L AN k.

PUMA (EC_) 03.1997 - 02.2015
OEM Info Info OEM
1044014 Thread Measurement 1: M14x1,5 Thread Measurement 1: M14x1,5 1044014

Thread Size 2:M14x2,0 Thread Size 2: M14x2,0
Length: 290 mm Length: 290 mm
1004018 Suspension Rod Suspension Rod 1004018
withaccessories withaccessories
1011858 with right-hand thread with right-hand thread 1011857
Thread Size:M10x1,5 Thread Size: M10x1,5
1030025 withaccessories withaccessories 1030025
1063 255 Control Arm Control Arm 1063236
with ball joint, withrubber with ball joint, withrubber
mounting mounting
Sheet Steel Sheet Steel
1004011 Mounting Type:Rubber-metal Mounting Type:Rubber-metal 1004011
Bearing Bearing
Control Arm Control Arm
1010037 Length: 62 mm Length: 62 mm 1010037
Inner Diameter: 12,0 mm Inner Diameter: 12,0 mm
Quter Diameter: 37,0mm Quter Diameter: 37,0 mm
Steel Elastomer Steel Elastomer
s e 0 s e 0
6090 e L & 6090
5146 # ? # ? 5146
3157 J 3158
ooo0l LA
4072 * 4072
1287 1286
2160 2160




FORD

SCORPIO | (GAE, GGE)

2161

SCORPIO | (GAE, GGE)

y
P

04.1985 - 09.1994

Info

2161

04.1985 -09.1994

OEM

OEM Info
5021414  |with right-handthread
Thread Size: M14x2
= 2oW
3523

SCORPIO Il (GFR, GGR, GNR)

LN

“|with right-hand thread

Thread Size: M14x2

5021413

3155

10.1994 - 08.1998

OEM Info Info OEM
1045413 SuspensionRod SuspensionRod 1045413
Thread Size: M12x1,75, M10x1,5 Thread Size: M12x1,75, M10x1,5
5030222 with right-hand thread | with right-hand thread 5030221
Thread Size: M16x1,5 Thread Size: M16x1,5
5160
3172

SIERRA (GBG, GB4, BNC, BNG, GBC, GBG) 01.1987 - 02.1993

OEM Info Info OEM
5021414 |with right-handthread RS | [«@=5 with right-hand thread 5021413
Thread Size: M14x2 N N Thread Size: M14x2
=
3523 3155

L AN |-



FORD

OEM Info
1433271 Thread Measurement 1: M16x1,5
Thread Size 2: M18x1,5
Length: 297 mm
1377 849 Length: 299 mm
Suspension Rod
1433274 |with right-hand thread
Inner Thread: M18x1,5 mm
Outer Thread: M14x2,0mm
Cone Size: 20 mm
Length: 11,5mm
1377 846 Cone Size: 22 mm
for controlarm
Outer Thread 1: M14x1,5mm
withaccessories
1377848
1566 838
1426770
1377 416 SuspensionRod
Thread Size: M8x1,25,M10x1,5
Length: 179 mm
Steel
1377 449
1387629
1469 125
1469 125
v ———
6094 O
5150 ,
3160 h
4074
1296 =
2174
2170

Info OEM
Thread Measurement 1: M16x1,5 1433271
Thread Size 2: M18x1,5
Length: 297 mm
Length: 299 mm 1377849
SuspensionRod
with right-hand thread 1433273
Inner Thread: M18x1,5 mm
Outer Thread: M14x2,0mm
Cone Size: 20 mm
Length: 11,5mm
Cone Size: 22 mm 1377 846
for controlarm
Outer Thread 1: M14x1,5mm
withaccessories
1377 846
1533836
1426770
SuspensionRod 1377 416
Thread Size: M8x1,25,M10x1,5
Length: 179 mm
Steel
1377 449
B 1387629
= 1469125
B = 1469 125
6094
é 5150
ﬂ 3161
4074
; © 1297
4 2173

2170




| S-MAX -6,2015
R X
5459 5459
1298 1298
2169 2169
2171 2171
2172 2172
STREET KA 05.2003 - 05.2015
OEM Info Info OEM
1107 068 Suspension Rod Suspension Rod 1107 068
Aluminium Aluminium
withaccessories withaccessories
1023567 with right-hand thread ©9|with right-hand thread 1023567
Thread Size: M10 Thread Size: M10
1030025 withaccessories “'|withaccessories 1030025
1000 445 Mounting Type:Rubber-metal »|Mounting Type:Rubber-metal 1000 445
Bearing Bearing
Control Arm Control Arm
1035929 Mounting Type:Rubber-metal Mounting Type:Rubber-metal 1035929
Bearing Bearing
<N ll
5147 e 5147
3159 3159
4072 4072
2158 2158




| S-TYPE (CCX)

2159

S-TYPE (CCX)

FORD

01.1999 - 08.2015

2159

01.1999 - 08.2015

Info Info OEM
Suspension Rod SuspensionRod
Control Arm Control Arm 4W4Z3084AA
Control Arm Control Arm
Control Arm Control Arm
Control Arm Control Arm
5161 5161
1311 1312
1561 1316
1314

[ TN
1313 4

09.2001 - 05.2015

THUNDERBIRD [USA] Convertible
OEM Info

09.2001 - 05.2015

Suspension Rod

Control Arm

Control Arm

Control Arm
Aluminium

Control Arm

Control Arm

Info OEM

SuspensionRod

Control Arm 4WA47Z3084AA

Control Arm

Control Arm

Aluminium

Control Arm

Control Arm
5161
1312
1316



FORD

THUNDERBIRD [USA] Convertible

09.2001 - 05.2015

\ &
° o
1319 & = 1562
1 3 : [
5
1313 1314
1317 1318
TOURNEO CONNECT
OEM Info Info OEM
1085520 Thread Measurement 1: M14x1,5 Thread Measurement 1: M14x1,5 1085520
Thread Size 2: M14x2,0 Thread Size 2: M14x2,0
Length: 321 mm Length: 321 mm
1332453 SuspensionRod SuspensionRod 1332453
Inner Length: 237,5mm Inner Length: 237,5mm
2T14 3289 AA |Cone Size: 15,9 mm Cone Size: 15,9 mm 2T14 3289 AA
with add-on material with add-on material
4120734 withaccessories withaccessories 4120734
1332455 Control Arm Control Arm 1332454
Sheet Steel Sheet Steel
2714 3063 AA 2T14 3063 AA
1332463 Inner Length: 133,0mm Inner Length: 133,0mm 1332463
Coupling Rod Coupling Rod
6092 Q 6092
5162 ? é 5162
2173 “ h 5173
f =) o
~ =
4081 é 4081
= =
1321 1563
2189 2189




FORD

TRANSIT (E__) 06.1994 - 07.2000

|-

o I‘ii ."h I‘i' 'ii!

oY) oS

TRANSIT (E__) 06.1994 - 07.2000

OEM Info F/R Type Type F/R Info OEM
6156463 | with right-handthread R c101 c101 &= |@@am | with right-hand thread 6 156 463
Thread Size: M16x1,5 Thread Size: M16x1,5
6150971 |SuspensionRod m o) 5167 5166 |- |so— | SuspensionRod 6150970
1047 145 |Thread Size:M16x1,5 C o ey 3175 3175 |~7<&  |@@=2"..|Thread Size:M16x1,5 1047 145
1055194 |Cone Size: 24mm aia o< 4083 4083 |, @@Li .| Cone Size: 24mm 1055 194
ks i =

6101 6101

5167 5166

3175 L L 3175

‘b

‘?

€ €

¥ ¥
4083 @ Mﬁ % @ M“ »g:g 4083

TRANSIT (FA ,F F
OEM nfo F/R e Type F/R Info OEM
1370709 | o mie ) = | 6099 6317 &= |@@m " Thread Size: M20 1370710
Thread Size 2: M16x1,5

1495685 |Length: 290 mm agim Vo) “ e “ M\ |agZ= R 5 Length: 290 mm 1495 685
Thread Size: M12x1,5 @ 5164 5164 @ Thread Size: M12x1,5
SuspensionRod SuspensionRod

1138275 Thread Measurement 1: M16x1,5 =l O-I'r O-I'r il Thread Measurement 1: M16x1,5 1138275

! N 3174 3174 N )

Thread Size 2: M14x2 Thread Size 2: M14x2

1417352 |Thread Size:M16x1,5 PSS ‘Q@ 4082 4082 ‘g@ @@= )| Thread Size:M16x1,5 1417352
withaccessories < < withaccessories

4120734 withaccessories aim o) % 4081 4081 % @@L | withaccessories 4120734

4709 303 B e 5165 5165 |o 4709303

6099 o o 6317




FORD

TRANSIT (FA ,FD__,FB__,FS

,FZ__,FC__,FM FN_ _

— g

3174 3174
4082 4082
®
-
4081 é 4081
e
5165 & & 5165
TRANSIT (T__) -10,1985
OEM Info F/R Type Type F/R Info OEM
6156463 |with right-handthread e &7 |a@am "o with right-hand thread 6 156 463
) 6101 6101 ;
Thread Size: M16x1,5 Thread Size: M16x1,5
6150971 |SuspensionRod e 5167 5166 |w ~ |@@=='..|SuspensionRod 6 150 970
5021447 |with left-handthread T ey 3176 3177 |~  |@@=="|with right-handthread 5021446
=l ﬂ ﬂ
6101 6101
5167 5166
3176 3177
TRANSIT CONNECT (P65_, P70_, P80_) -2,2015
OEM Info F/R Type Type F/R Info OEM
ﬁ ! B r}ﬂ:::_ﬂ/ 'S ),ﬂ:::_ni" ﬁ ! >
1085520 Thread Measurement 1: M14x1,5 1 ® . Thread Measurement 1: M14x1,5 1085520
Thread Size 2: M14x2,0 6092 6092 Thread Size 2: M14x2,0
Length: 321 mm Length: 321 mm
1332453 [SuspensionRod i) A A |@= T suspension Rod 1332453
&~ 5162 5162
Inner Length: 237,5mm Inner Length: 237,5mm
2T14 3289 AA |Cone Size: 15,9 mm izl @@iE " .| Cone Size: 15,9 mm 2T14 3289 AA
) . 3173 3173 X '
with add-on material with add-on material
4120734 |withaccessories aim o)< 4081 4081 @@is .| withaccessories 4120734
1332455 |Control Arm = = e @@L .| Control Arm 1332454
\ 1321 1563
Sheet Steel & Sheet Steel
2T14 3063 AA emle)| o 2189 2189 agia o) 2T14 3063 AA
1332463 |Inner Length: 133,0mm B 7 %A s163 s163 35 inner Length: 133,0mm 1332463
Coupling Rod ) Coupling Rod
@@,‘ u u
™~ oY
6092 *&’ *&’ 6092



FORD

TRANSIT CONNECT (P65_, P70_, P80_)

-

5162
3173 h 3173
o
~
4081 é 4081
=
1321 1563
2189 2189
H@m -
5163 H ¥ 5163

TRANSITTOURNEO

OEM Info Info OEM
1370709 Thread Size: M16 Thread S!ze: M20 1370710
Thread Size 2: M16x1,5
1495685 Length: 290 mm »Length: 290 mm 1495 685

Thread Size: M12x1,5
Suspension Rod

Thread Size: M12x1,5
SuspensionRod

1138275 Thread Measurement 1: M16x1,5 Thread Measurement 1: M16x1,5 1138275
Thread Size 2: M14x2 Thread Size 2: M14x2
1417 352 Thread Size: M16x1,5 »|Thread Size: M16x1,5 1417 352

withaccessories withaccessories

6099 o (@) 6317

5164 é ; é 5164
3174 L 3174

eo eo

=

4082 ) ) 4082

s ®



FORD

XK (_J43))
OEM Info F/R

Control Arm k@‘—§| Y

Type F/R Info OEM

Y 2 3| Control Arm

I

1313 1314



